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Temzi

Mi ara yedderyel zzman, ur tneffee la tidet wala imettawen. Achal i tru Nasima,
achal i teggugem aimi tekcem di tisselbi n wayen yuran. Tikwal ad truh ad tyer, tikwal ad
therr iman-is deg texxamt, tuffya ulac. Zrin wussan deg tafrara n tudert yettwayen.
Nasima ur tecsi la amwanes wala win ara s-d-yerren asirem, ala Rebbi.

Yiwen n wass, tekcem nna Werdiya yer texxamt n Nasima, tenna-as: " Azul a yelli
| Am wakken tezrid, nhemmel-ikem atas; nessaram-am ala ayen yelhan. Kkes lehzen yef
wudem-im, €li dayen, ttu-t. Degger titim yer zdat, tamuyli yer deffir ulac. Lhu-d d
legraya-m therzed temzi-m. thi, atan yessuter-ikem-id Lhag Leerbi i zzwag ; d yiwen n
umerkanti ameqgran di leerc n At Yiraten; kullec ad yeddu yef ufus-im. Tikkelt-a yegbel
baba-m, yeggul ur yehnit ar kem-ifek bessif. Ddurt-a i d-iteddun ad d-yas lejmace-is.
Nekni d Ilfayda-m i nebya, macti d asgecmee-agi umi tessawalem tayri. Ass-agi, d
idrimen i iheddren, matgi d lehmala. Ha-t-aya wayen i seiy ad am-t-id-iniy, err-iyi-d s
lexbar gar-aney d sin n wussan."

Temmugel-itt Nasima s ddaw it, tru-ten-id, tsuy fell-as: " Ziyen akka ! Ur tugadem
la Rebbi wala amdan. Teecqem deg yidrimen, tettum tidet yenhafen. Terram-iyi d tixsi,
tefkam-iyi i umyar. Ihi, nekk d tafunast n yigujilen, ur nettnuz, ur nrehhen. Teslid-iyi-d ney
ala ! Ffey-iyi sya !"

Teffey nna Werdiya truh, ma d Nasima tekcem deg wuguren ur nesei tifrat,
tegzem-itt deg rray ad terwel seg uxxam.

Yeyli-d yid, wa yettes, wa yedduri. Nasima, kra yekka yid d nettat d axemmem:
Ulac tifrat | wuguren-is; ala yiwen n ubrid i yellan : Tarewla ad temnee bab-is. Send ad
terwel s axxam n £li s tuffra, theyya-d lqecc-is akked dduzan yerzan legraya-s, syin
teddem-d iccer n lkayed, tura deg-s imeslayen-agi : " Gemney ad rewley seg uxxam,
acku ur d-teqqim tudert yid-wen. Ur d-ttuyaley ara alamma tuyalem-d yer lecqui-nwen.
Hadert ad tnadim fell-i, ney ad tessuffyem awal ! Ma teeddamii tlisa-agi, ad nyey iman-iw

send ad n-tawdem yur-i."

Tasebhit, mi i d-tekker nna Werdiya, am win i as-yennan, terra srid yer texxamtn
Nasima . Mi tekcem, tewwet deg lehnak-is, teqqur, tewhem, tefqee . Tebda la thedder
wehd-s am tmehbuilt .
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Mi d-yuyal si Muh si Bgayet, tefka-as Karima, yelli-s tameqgrant, tabrat-nni i d-
tegga Nasima, yeyra-tt. Ibedd akken tagnit, yenteq yur-s : " Xemmey miih yef temsalt n
Nasima, lhasun ndemmey deg wayen akk i akent-xedmey ; ladya Nasima i yi-ihemmien
atas. Ttxil-kent ! Surfemt-lyi ! ['riy atas, maca xussey di lefhama, mad&&i d may-iw, akka i
ttwarebbay."

IGLI n Tlelli, Lwerd n tayri, sb . 61

L Tigzi n udris : (12/12)

1. Sled ullis-a s Imendad n uzenziy n wallus (addad amezwaru, wis sin, wis krad).

2. Ayyer i terwel Nasima seg uxxam ?

3. Amek i tettwali nna Werdiya tayri ?

4. D acu i yeggan si Muh ad ibeddel rray, ad yessuter ssmah deg yelli-s tameqgrant ?

5. Suffey-d seg udris aktawal n timmuybent.
6. Semmi-d isumar n tefyirt -a: Mi ara yedderyel zzman, ur neffeen ara yimettawen.

. Asenfali s tira : (08/08)

Nasima tegbel ad tay amyar s nnig n wul-is.
Aru-d ullis deg ara d-tessugned amek ara tili tudert n Nasima d umyar i tuy. -
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Agerruj n tidet

Yella yiwen n sseltan, d taqcict kan i yesea; ihemmel-itt d tasa-s. Yal mi ara iffey,
ad iwessi tigeddacin-is ad as-ddunt di lebyi. Maca, yal mi ara yekk tawwurt, tamettut-is
ad tekker yer ccyel yerna ad temmal i yelli-tsen amek i iteddu wayen akken i txeddem.
Tagcicit-nni, s akken ara d-yekcem baba-s, ad tazzel s usu, amzun ur tgi kra.

Asmi meqgret, yefka-tt tedda, yuy-itt sseltan-nniden i mmi-s. Lameena yewwi
fell-as ccert, yenna-as :«Yelli ur txeddem ur tgeddem». Asmi tedda d tislit, yefka-as
baba-s ayen ur nettfaka n ddheb d Ifetta. Axxam-is imi tt-walan ur txeddem ara, unfen-
as, rran-tt di rrif.

Teqqel tessetha s yiman-is. Tuyal, mi ffyen wat uxxam, yal yiwen yer ccyel-is, ad tekker
ad texdem merra ccyel n uxxam . Mi d-usan wat uxxam, afen-d yal tayawsa deg umkan-
is. Uyalen hemmlen-tt merra, mezzi meqger.

Yiwen n wass, yerza-d fell-as baba-s, yaf-itt tgerrez. Yenna-as: « A yelli, eni
ifuk-am ddheb d ifetta-nni i am-d-fkiy ? ». Terra-as : « Ayen akk i yi-d-tefkid yekfa,
haca ayen i yi-d-tefka yemma i mazal, ad seeddiy ddunit-iw merra yis-s».

Yuyal baba-s yefreh. Akken yewwed yer tmettut-is, yenna-as : « Akk-a i xeddment
tlawin leali ». Twehha yer yiyallen-is terra-as : « Ssexdem-iten ad ten-yet® wakal, egs-
iten ad ten-yett wakal ».

Musa Imarazen, Timeayin n legbayel, H.C.A. 2007, sb.94.

I Tigzi n udris : (12/12)

Amek i d-irebba sseltan yelli-s ?

Amek i yenwa ad teic yelli-s tudert-is?

Ayver i tuyal teslit yer lecyal n uxxam ?

D acu-t Ixilaf yellan gar wayen i as-yefka baba-s i teqcict d wayen i as-tefka
yemma-s ?

Sled ullis-a s Imendad n uzenziy n wallus.

Semres awal « tasa » deg tlata n tefyar. Anamek-is ad yemxallaf seg yiwet yer
tayed.

7. Semmi-d isumar n tefyirt-a:

Mi ara yekk tawwurt, tamettut-is ad tekker yer ccyel.

BN e

AN

II. Asenfali s tira : (08/08)

Kra n yilemziyen ttkalayen kan yef yimawlan-nsen. Ur gin ara akk azal i
yixeddim.
Aru-d ullis i deg ara tessekned nndama i yettidir kra n yilemzi i wumi xerbent
tirga, segmi i d-yeqgim iman-is i lemhayen n ddunnit.

i aiial) 10/9 i—aial




X400 1 1enst.

Nedle NE41 1 OOYe], A TZRECT Kol £ D% SLLLTHL-SHY A ++0-0. [Iol
L€ «O NEIALIA4Y, *A E£34OOL YEXEANCELED *A *O-ANIY NS ULDYS. LeQe, ol
LE +Oe NAILILAY, FoL4131-E0 *N H4KRKE0 Y40 QYL N0l oA 1Ll g nslle-
1O sL4R 2 EX4ANS 2oM14] *RKRAl € IXEANL. *KK#] +Oe ATIERCLT Q+®+-0, *A
telkd4l O 303, LX3 0 ¥XE KO-

*OLE CALXO4Y, ALK =1 T4AAe, MY-EH OO UT+1-NIEVE] € LT8O, UeL 23]
NE3E J4LE-+0 QBEOY, TM4lle-+Q :«YWE 10 IREANL 0 +REANLL». *Qre
40N N TEOUEY, TEILK-+O Q@*-O *N2l :0 1+1ILKe | AAS20D A U2},
*KRL-EO ELE th-3ole] 20 TREANL =Ov, 314140, 0014+ AS OOST.

TRLEL T4OO8T Lo O NEL1-CO. 13Yell, L€ JLILY4! o1-3XKoL, Mol NNE22] Y40 SCY4L-
€O, *A THKKE0 *A XN L400° SSYAL | 4XK L . [E A-20] F-4AXKeL, oJL4-A
Tol toY30° A¢K LK 1-20. Yell#l L4LLUA-1Y L400-, L4XXE LAZT2O.

NE:41 1 200, N4ORK=-A JLHW-*O O°Q+-O, He -1t ARLO0LE. Nalle=20 : « *
NHUE, $1€ SIL:K-L ANDED A UILEYT=-IE € +L-A-ITREY ? ».

T4ll-2@ : « °TI#l *K & NE-A-F4ILREY MERILe, LoQe 4! & NS-A-+4ILRe NELLe &
Lokl , *A GRNANEY ANRNEY-8: & £200- N200".

el OoQe-O MIALOLL. KK NF332Y Y20 YL21131-80, Ntlle-+® : « *RR-+ &
RENNLATY 38l WeellSr. Y320B Y40 SYUULL-EO t4le-+0 : « OXEANL-EX4] oA
HLTUGE $oKol, $XK-E14] oA H41-TRDS oK oln.

L:0e ELe0X21, 28L%018] | ##E D1l H.C.A. 2007, ©Q.94.

putosf
.

TERRE 1 :VOLO : (12/12)

*L4K € N-E0200° OOYte] N2LUS-O 2

*L4K ETIEl3e oA 1388 MAWWS-O Y:A201-20?

NY20 & 12Vell T4OUSY Y40 R2CYell | s 2 :

E oG-t UXCUIL MLl X+O 307181 € «O-NEXLKe QeDe-® A 2elldl &
*O-14LKe 4LLe-O Y4USESH?

OV HWMUSO-+» © UL4AN 1 R2AXEY ) 2e8l20.

GELOO  otof « 1*@*» ASK  Hlote 1 F2ITeO. osL4+R-EQ A
MECXK QUL OX NS3¢t Y20 Pollay.

7. O4LLE-A OO | +4ILNEOY-o:

LE *O° MHKRK T-00:01, ToL#:44-20 *A +4RK20 720 ceval.

IL *Q+LX+EE © 1€0 : (08/08)

KO< | NEUC4RN4! T¥KoLell#] Kol Y4IL NEL+:o)-104. 30 K& +O° <KX
‘Rl ENEREANEL.
*03-/) 3UEO € NEK *O° N-H4OORIY NALe € MAHEASO KO- | NEULLES & oIS
R¥OD#T TEOKe, O4RLE € N-TIHRLEL LSO £ ULL LTI AAlEY,

B WA

o

b iy 10/10 Laial ;



2008 (9> 590 =

et JS U ghSs o A el ARll) Bl —

Bainh alug A g &)l

Js¥ £ g gal) | i . B
Y ale )
\&yu'lﬁa\‘p.n R e £ sl
|
2| _ iy o g
i }\}'&J‘l_}jb_uduus_’}uwb 11
l Ohan 5 ISEE Lasali ¢ (( Zu sl o 20 gkl A =1
1 ARG Y ol Yol
i . (L_u_’h.\.:)uuwu‘jl\““ :
‘\ U:'J"“L:“\ ! HEEL ‘.JL w..qu\JgL.u" Ls\JJJUL)"‘.‘.':_)L‘ ‘n
i z |
o1 nola bl ol el s det
} ) P Cnglas
| 385 Lasals —
|15 Aaly Sl Jis b -
i ! sl g e s~ )
! | KB
| \p\:‘__.';:__:\_g;_'r.e‘\:_‘_’:‘u\_}:\.x J;\_.Cfgu
| IR R CRR R R Sy R e ¢ ‘I
{ s
; \ . P . |
| o1 Syt s sty 2 daly Sl lads 08220 |
‘; s sy Julal 158 by =3 |
: ol Sl sy u—:swbd\)d\.‘uC}nw ﬂ |
' : 1 o o o Lo Sl & ’i ;
: ccliel oo gile  dle i) Gl o Jhgst =34 |
. o |
! 2 o o . .‘( ....... Al % t
; il g clay Ja el aj P " il O _)La:}u\s ,—6i i
1 | olsteles)
: 2 J_,S‘_g ) :\.‘.:'\.am:‘ s u.ai N \\AJ d\.:-_)bh .LQ‘ @ ‘; \‘
i i V\L‘.‘LE&I W a.u.) 3 u‘JL:LA.u UAA\.;Q\_\_/J | E
i : 2
_— | e i) }
i
: ! |
i : U—ul_’x}l__.__ - _‘T._é 3 JJ'C.SEc (.)“QSJ 5 q_"___: A La‘“"*)“‘“ "l
i :
o i |
| | 0.5 R
| Lﬂ_)’é‘_,ﬁ\.ﬁ B o
El i : uulJ‘.f‘.i
| ig u\_u St |
E ) w.\.\} 3 L)‘““.J‘"A\ \
? Rt (P
L 0s ;a:si - a8y o GG o ol e
g‘g Lu - VL—’L}M} u LJ"“ ‘)AL_uﬂ
[ | 0:5 J\jLﬂJ I} u.u\)a\__.u\
0.5 of o Qlils ¢ i
o yaa g O Obdd
0.5 (C.l_;b.‘ai"t\)g_u\ S
0:5 \.L.I.A_,.I _)LAQL—-\ u Q—L\Y
05 oo a gl s W5 -

oy 3l & ghaim 3 ) sk o i




Ladtal) . ) YL
Aay! .
g yaaal | 315aa naiihens £ pa galt
I- Tigzi n udris I
1- Tasledt n wuilis iimend n uzenziy nwallus :
01 a- addad amezwaru : (Tagnit n talwit)
- Nasima tettidir iman-is war amwanes, war asirem.
2 b- Tigawin :
1 01 |- aferdis n urway : Yiwen n wass tenna-as yemma-s : * Ad kem-nefk
bessif i Lhag Leerbi ad kem-yay".
- Tigawin :
192 01.5
- Nasima tettru;
- Terwel seg uxxam,;
- Tegga tabrat | baba-s.
- Trrat:
- Si Muh iyra tabrat; - Yendem deg wayen xcem. '
i
- a : :
o1 ¢- addad n taggara |
- Yessuter ssmal deg yessi-s, ': 5
2- Terwel Nasima seg uxxam, acku ur tebvi ara z¢ tt-fken | umyar. i
01
0L5 | 3- Nna Werdiya tettwali tayri d asqecmes, tettwail-it s yir tamuyli. ‘g
01 |4 SiMuh ibeddel ray-is, acku, yehsa yedlem yelli-s, yema themmel-it 1‘
atas. ! :
: 5- Aktawal n timmuybent : yeddervel, imettawen, tru, lehzen, yenhafen, * ]
‘ 02 uguren. i
\ 02 8- Tasledt n tefyirt : ;[
Mi ara yedderyel zzman, ur neffeen ara yimetiawen. i
- Mi ara yedderyel zzman : asumer amseriel n wakud.
- Ur neffeen ara yimettawen : asumer agsidan. i
,, 1l - Asenfali s tira
s Adris ad yili d ullis. Aktazal ad ibedd vef yisefrenen-a :
j - Taferkit : i
0.5 Asebter zeddig |
0.5 Tira tettwayer
- Afares : '
08 1.5 Asentel iban
1.5 Adris d ullis (tayessa n wullis tefrez).
- Tutlayt :
0.5 Asemres n yinamalen n wakud / adeg.
0.5 Asemres n yimyagen d tmezra
0.5 Asemres n.umawal
_ 0.5 Aqader n yilugan n tira
{ 0.5 Asigez n udris
- Taseddast / Tazdawt : 44
0.5 Lebni n tefyar tummidin - _
0.5 Tugna gar tefyar d {seddarin
0.5 Agader n yilugan n tezdawt tadrisant
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1- Tigzi n udris ]

01 1- Sseltan irebba veili-s yef tiffinyent d itnefcic.

01 2- Yenwa ad tedZ z¢ teqaim

01 3- Tuyal teslit yer 'scyal n uxxam acku tessetha s yiman-is

- Acku rrant- 2 wat uxxam deg rmif
02 4- Ayen i as-yefka baba-s ifennu, yettfakka. Ma d ayen i as-tefka

12

08

C1

01.5

01

01.5

02

0.5
0.5

1.5
135

0.5
0.5
0.5
0.5
0.5

0.5
0.5

0.5

yemma-s yetiuserraf yal lwegt, ney d agerruj n dima
5- Tasledt n wullis :
a- addad amezwaru :
- Sseltan yeszz yiwet n teqcict.
- Yebya ad ieic s yiyimi.
b- Tigawin :
- aferdis n urway :
- Yefka-tt ad sowed
- Yecred ur ‘xeccem &ra
- Tigawin : N
- Taqcict tedce < ysiit, tesfenvin.
- At uxxam rrer - deg .
- Tessetha s yiman-is, uyal cxeddem.
- Tifrat: - At uxxam uyalen hemmien-{t.

c- Addad n taggarz : - Taqcict tessefhem baba-s yef wazal n
yixeddim yugaren &zzi n wurey.

€~ Asemres n wawal “=s3” deg Hata tefyar:
- Teqqur tasa-s/ - ¢Zztasa nuzger/ - Tasa ntmeftutd araw-is.
7 -Isumar n tefyirt

Mi ara yekk tawwurt: zsumer amsentel n wakud,
Tamettut-is ad tekker ver ceyel : asumer agejdan.

I} - Asenfali s tira
Adris ad yili d ullis. A<:z2zzl ad ibedd vef yisefranen-a :
- Taferkit :

Asebter zeddig

Tira tettwayer
- Afares :

Asentel iban

Adris d ullis (tavessa n wullis tefrez).
~ Tutlayt :

Asemres n yinarmzien n wakud / adeg.

Asemres n yimyscen d tmezra

Asemres n umawei

Agader n yilugan - ira

Asigez n udris
- Taseddast/ Tazdeat :

Lebni n tefyar turmmidin
Tugna gar tefyar < ‘seddarin
Aqgader n yilugan n tezdawt tadrisant
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Part 1. Reading (15 points)
a) Comprehension (08 points)

Read the text carefully then do the activities.

Consumerism is a movement that promotes the interests of buyers of goods and services. It
works to protect consumers from unsafe products; fraudulent advertising, labelling, or packaging,
and business practices that limit competition. Consumerism, also known as consumer protection or
the consumer movement, is active in many countries.

Consumerism includes activities by consumers themselves as well as government action on
the federal, state, and local level. The movement seeks to provide adequate information about
products so that consumers can make wise decisions in purchasing goods and services.
Consumerism also tries to inform consumers of effective means of obtaining compensation for
damage or injury caused by defective products.

The tise of the consumer movement has had major effects on business and industry. Many
companies have become more responsive to the needs, wants, and safety of consumers. Other firms
have not been responsive to these concerns.

1. The text is about:
a) Consumers' rights and duties.
b) Consumer movement and its roles.
2. Say whether the following statements are true or false according to the text.
a) Consumer movement is present in many countries.
b) The movement helps consumers take decisions about what products to buy.
¢) The movement gives money to consumers.
d) All firms have responded to the movement's concerns.

3. In which paragraph is it mentioned that
a) Consumerism deals with buyers' interests?
b) Consumerism informs consumers about good ways of getting payment for damage and
losses? )

4. What do the underlined words in the text refer to?
a) it (§1) — b)themselves (§2)

5. Answer the following questions according to the text.
a) What does consumerism protect consumers from?
b) What information does consumerism provide consumers with?
) What positive effects has consumerism had on business and industry?
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b) Text Exploration (07 points)
1. Find in the text words closest in meaning to the following:

a) products (§1) - b) faulty (§2)
2. Complete the following chart as shown in the example.

Verbs Nouns Adjectives
Example : consume | consumerism consumable
loss

....................... safety e
3. Ask the questions that the underlined words answer.

a) Consumerism promotes the interests of consumers.

b) The movement is active in many countries.
4. Give the correct forms of the verbs in brackets.

1. Governments should (take) serious measures to fight counterfeiting.

2. After I (buy) the DVD, I found out that it was of a bad quality.
5. Match pairs that rhyme.

A B
a) services 1) responsive
b) rise 2) package
L ¢) effective 3) practices
d) damage 4) wise

6. Reorder the following statements to make a coherent paragraph.
a) For example, they are entitled to products
b) Consumers have several basic rights.
©) They are also entitled to the protection against unsafe foods.
d) whose quality is consistent with their prices.

Part 2. WRITTEN EXPRESSION (05 points)

Choose one of the following topics and write a composition of about 80 words.

Either
Topic 1:
After being influenced by an advertisement on TV, you bought a product. When you got it,
you realized that you had been manipulated by the ad. Write a letter of complaint, in which you give

information about the product and the place where you bought it, to the manufacturer telling him

about the defects of the product, the consumers' rights to adequate advertising, compensation, etc.
You can use ideas from the text.

Or
Topic 2:
In your city, you feel that consumers are not protected against the defects of the goods they
buy. So you decide, with a group of friends to create an association of consumers.

Write a composition in which you expose the reasons and objectives of this association.
You may use the following ideas :

Reasons: counterfeit/cheap products, lower quality/harmful, not lasting
Objectives: to sensitize the consumers, to protect them, to buy safe products
4/2 Aaiall
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Part 1. Reading (15 points)
Read the text carefully then do the activities.

Advertising is a message designed to promote a product, a service or an idea. In
everyday life, people come into contact with many kinds of advertising. Printed
advertisements make up a large part of newspapers and magazines. Poster ads appear in
many buses, subways and trains. Neon signs along downtown streets flash advertisements.
Billboards dot the roadsides. Commercials interrupt TV and radio programs...

The purpose of most advertising is to sell the products or services. Manufacturers
advertise to try to persuade people to buy their products. Large business firms also use
advertising to create a favourable ‘image' of their company. Local businesses use it to gain
new customers and increase sales. Advertising, thus, plays a key role in the competition
among businesses for the consumer's dollar.

Advertising is also used by individuals, political parties and candidates, social
organisations, special interest groups, and the government. Many people advertise in
newspapers to sell used cars, homes, or other property. Political parties and candidates use
advertising to try to win votes. Social organisations and special interest groups often
advertise to promote a cause or to influence the way people think or act.

a) Comprehension (08 points)
1. Say whether the following statements are true or false.

a) Advertising is a part of people's daily life.

b) The main purpose of advertising is to sell products and services.

¢) Advertising has no influence on competition between large firms.

d) Advertisements make political parties lose votes.
2. Fill in the table with information from the text as shown in the example.

mnds of advertising | Where advertised
Example: a) printed | Newspapers and magazines
[ —— buses, subways, trains
C)NEON SIENS | vreneivinnranereneens
Q) s smmmans roadsides

e) commercials | ..ooocooiiiieiiiinnnns
3. Answer the following questions according to the text.
a) Who uses advertising?
b) Why do social organisations and special interest groups use advertising?
4, In which paragraph are:
a) the different kinds of advertising mentioned?
b) the users of advertising in elections mentioned?
5. Choose the general idea of the text.
a) Reasons for advertising
b) The negative effects of advertising
¢) Consumer goods
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b) Text Exploration (07 points)

1. Find in the text words or phrases which are closest in meaning to the following:
a) convince (§2) b) very important (§2)

2. Complete the following chart as shown in the example.

Verbs Nouns Adjectives
Example : to advertise advertisement advertised
product

...................... useful

3. Classify the following words according to the pronunciation of the final’s’ (/s/ /z/ /iz/.
-buses — roadsides — sites — services — sales — groups
[ Is! [ 12l [ fiz/ |

L | | |

4. Ask questions that the underlined words answer.
a) Everyday, people come into contact with many kinds of advertising.
b) Many people advertise in newspapers _to sell used cars, homes or other property.

5. Complete the following dialogue.

B. Yes, of course. Advertising is a big business.

Part 2. WRITTEN EXPRESSION (05 points)
Write a composition of 80 words on one of the following topics.
Choose

Either

Topic 1:

A factory has just produced a new product. Using the following notes, write a composition to
show how to promote this product.
o description of the product
e itsuse
e its advantages
o its price

Or
Topic 2:

Are you for or against advertising? Justify your choice.

. 4/4 daiall —
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Part 1
15pts Part 1 Reading A
8 A. Comprehension
1 1pt 1.b
2 0.5each |2.a) T b)T ¢) F d)F
1pt 0.5 each | 3.a)§1 b) §2
4. a) consumerism / movement
ipt 0.5 each b) consumers
S.
a) from unsafe products, fraudulent advertising,
1pt labelling or packaging and business practices that limit
competition.
b) adequate information about products so as to make
3 1pt the right decisions to buy goods or services.
¢) many companies have become more responsive to
1pt the needs, wants and safety of consumers.
7 B Text Exploration Part
B
1. a) goods b) defective
1pt 0.5 each | 2.
Verbs Nouns Adjectives
1.5pt | 0.25 each to lose ] lost
economy economic /al
to save safe / saved
3. a) What does consumerism promote?
b) Where is the movement active?
1pt 0.5 each |4,
1. should take
2. had bought
1pt 0.5 each
5.a=3 b=4 c=1 d=2
1pt |025each | * ¢ |
6. b a ¢ |
15 | 15pt i 1
WRITTEN EXPRESSION ;
| PART 2
Topic1: Form 2.5  content 2.5 ] o
5 Topic 2 : Form 3 content 2 |
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15 pts Part 1 Reading
08 pts A. Comprehension
2pts| 1.a)T b)T ¢)F d)F
2pts | 2.
Kinds of advertising | Where advertised
Example a) printed [ newspapers and magazines
byposters |
L | along downtown streets
d)billboards |
L | TV, radio
2pts | 3. a) manufacturers, business firms, local businesses,
political candidates, social organizations ...
b) to promote a cause or to influence the way people
think or act.
Ipt|4.2)in§1 b)in§3
1pt | 5. (a)
07 pts B Text Exploration
1pt| 1. a)persuade b)key
1.5pt| 2.
[ Verbs Nouns Adjectives
toproduce | ... productive
..................... sale sold ]
| to use use e
3.
L5 pt Is/ i ’ fiz/
sites roadsides buses
groups sales services
4. a) When (how often) do people come into contact with
Lpt many kinds of advertising?
b) What do many people advertise in newspapers for? /
Why do many people advertise in newspapers?
2pts| s, Accept any appropriate completion.
o pts PART 2 WRITTEN EXPRESSION
Topic 1: Form 3 content 2
Topic2 : Form 2.5 content 2.5
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L'eau potable avant le portable

(Loic Fauchon est gouverneur du conseil mondial de l'eau, et donc resp ble du bon déroule du 3™
Forum mondial de l'eau, qui se tient jusqu'au 23 mars & Kyoto, au Japon; il répond aux questions dun
Journaliste.)

Combien de per actuell t dans le de, ne disp t pas d'eau, et dans quelles zones
la situation est-elle la plus grave ?

On estime qu'il y a aujourd'hui 1,5 milliard de personnes qui n'ont pas accés a l'eau pour vivie
normalement. Mais le double, prés de 3 milliards, ne disposent pas d'un assainissement convenable.
Avec le développement des mégacités, c'est 4 la périphérie des grandes villes que se situent les
problémes majeurs. Parfois, il y a de I'eau, mais elle est polluée.

Quelles sont les éq de ces p del'eau ?

Au lieu de régresser, les maladies favorisées ou transportées par les eaux infectées ne font qu'augmenter.
La malaria est la plus connue, mais on voit se multiplier les cas de bilharziose, de diarrhées, de typhoide.
(...) Actuellement, la mauvaise eau est la premiére cause de mortalité dans le monde.

Qui pollue I'eau ? .

Tout le monde: les industries, dont les effluents sont chargés de produits dangereux, comme les métaux
lourds, I'agriculture, qui utilise de plus en plus de pesticides et d'engrais, et les habitants des villes, dont
les eaux usées partent plus ou moins directement dans les riviéres. (...) Il faut traiter ces eaux. Or clest
ce qui coite le plus cher.

L' ble des investi ts, publics et privés, pour I'eau dans le monde représente 5% du
- total des investissements, alors que ceux du secteur des télé ications s'élévent a 52%. Cette
différence n'est-elle pas scandaleuse ?

Elle est en tout cas inacceptable. J’ai I'habitude de dire: " L'eau potable avant le portable" ou "les
robinets avant les fusils". Cest une question de choix politique. (...) Michel Camdessus, ancien
directeur du Fonds Monétaire International, écrit qu'il faudrait investir 180 milliards de dollars par an.
Mais il admet que nous ne sommes capables de mettre sur la table que 80 milliards chaque année. Il faut
donc en trouver davantage et, pour cela, mieux gérer l'argent existant et faire vraiment de l'eau une
priorité, ce qui, actuellement, n'est pas le cas.

La réunion de Kyoto réussira-t-elle 2 mettre en place les bases d'une politique mondiale de I'eau?
Nous souhaitons tous établir un certain nombre de régles de base. (...) D'abord, la question du droit &
l'eau devrait étre inscrite dans les Constitutions. Ensuite, la loi devrait obliger les distributeurs & donner
gratuitement un minimum vital a ceux qui ne peuvent pas payer.

Propos recueillis par Pierre GANZ et Frangoise MONIER, L’Express du 23 mars 2003,

*effluents : ensemble des eaux usées et des eaux de ruissellement évacuées par les égouts.
QUESTIONS
1. COMPREHENSION : (14 points)
1. Dans ce texte, on :

e donne des informations sur I'eau
e raconte l'histoire de I'eau
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e exige une bonne gestion de l'eau
e décrit le cycle de I'eau.
Recopiez les deux bonnes réponses.

Des milliards d’étres humains ne peuvent pas accéder a P’eau.
Pourquoi ? (relevez 2 causes)

1 .« On estime qu’il y a aujourd’hui ... »
A quelle période renvoie « aujourd hui » ?

: . Complétez le tableau suivant en relevant du texte 02 causes et 02 conséquences :

Causes Conséquences
de la pollution de I’eau de la pollution de Peau

. Les responsables investissent plus pour les télécommunications que pour I’eau.
Quelle phrase du texte exprime cette idée ?

. «J’ai I'habitude de dire. »

A qui renvoie le pronom personnel souligné ?

. « Les robinets avant les fusils. »

Que veut dire ’auteur par cette expression ?

. Parmi les propositions suivantes, quelles sont celles qui sont fidéles au texte?Recopiez- les.

® Les eaux polluées doivent étre traitées

¢ Le probléme de I’eau est une priorité pour les pays riches

¢ Le droit 4 I’eau est inscrit dans les Constitutions

* L’eau doit étre gratuite pour les pauvres.
LPRODUCTION ECRITE (6 points)

Traitez ’un des deux sujets au choix :

1. Suite a de fréquentes coupures d’cau, les habitants de votre cité ou de votre quartier veulent
adresser une réclamation a I’entreprise de distribution de I’eau potable et aux journaux nationaux.
. IIs vous chargent de cette tache. .
Rédigez un texte dans lequel vous dénoncerez ce probléme en mettant I’accent sur ses causes,
ses conséquences et ses solutions.
2. Vous avez lu cette interview dans I’hebdomadaire « L’Express »et vous décidez d’informer vos
| camarades du contenu de ce texte a travers le journal de I’établissement consacré entiérement au
22 mars, journée mondiale de ’eau.
Faites le compte rendu objectif de ce texte.

Le déplacement touristique est souvent présenté par les organismes internationaux et les

sponsables politiques comme un moyen de rencontre et d'échange, un facteur de compréhension
utuelle entre les peuples, « une force vitale pour la paix. »

Mais il suffit d'observer les effets réels de l'intrusion touristique pour se rendre compte que ces
pances sont fréquemment gachées et que ces objectifs idylliques sont loin d'étre atteints: certains parlent
éme d'une "impossible rencontre”, notamment dans les zones sous-développées. Une situation de
pendance économique vis-a-vis des pays pourvoyeurs de touristes et de leurs grandes entreprises de
Pyage ne crée évidemment pas les conditions nécessaires pour un échange équitable: les attitudes
nimosité et de rejet sont renforcées par le sentiment de colonisation éprouvée dans les régions
ises & une forte exploitation touristique qui se voient dépossédées de leur patrimoine et n'ont pas les
oyens d'organiser elles-mémes la mise en valeur.
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De plus, la publicité et les catalogues de voyage donnent du pays visité une image mythique,
toujours trés réductrice par rapport & la réalité, avec une dissimulation systématique des problémes
économiques et sociaux. Le voyageur sous-informé 2 qui I'on a présenté ces destinations comme
heureuses et disponibles, ces populations comme éternellement chaleureuses et hospitaliéres, va se 2.
considérer de ce fait comme un héte recherché et se conduire fréquemment "comme en pays conquis":
méprisant et grossier avec les autochtones, irrespectueux des traditions, des rites et des valeurs de la
société locale, utilisateur négligent — mais exigeant — des attraits touristiques qui lui sont présentés...

Ces attitudes sont plus courantes chez les touristes voyageant en groupe, ayant acheté un "forfait" a 4

un organisateur de voyages que chez les visiteurs individuels qui entretiennent des contacts plus réguliers
avec les locaux et sont plus intéressés par la découverte authentique d'un pays différent.

Georges CAZES
Le tourisme international: mirage ou stratégie d'avenir ?
Editions Hatier, 1989.

QUESTIONS
1. COMPREHENSION : (14 points)

1. Comment le tourisme est-il pergu par les responsables politiques ?

2. L'auteur pergoit-il le tourisme de la méme maniére ?
Justifiez votre réponse en relevant une phrase du texte.
3. Complétez le tableau ci-dessous a I’aide des expressions suivantes :

Une force vitale pour la paix — déposséder du patrimoine — images mythiques — moyen de rencontre
— traditions non respectées — sentiment de colonisation.

Tourisme selon les politiques Tourisme selon I'auteur

4. Dans quelles régions le tourisme est-il mal considéré ?
5. Relevez du texte quatre mots ou expressions qui se rapportent au champ lexical de « patrimoine ».
6. L'auteur distingue deux sortes de touristes.

- Lesquels ?

- Quelle est l'attitude de chacun d'eux ?

7. Certaines institutions considérent le tourisme comme un moyen de communication entre les
peuples.
Relevez du texte une phrase de sens équivalent.

8. « Le voyageur & qui I'on a présenté ces destinations... »
Que remplace "on" dans le texte?

9. Quel est le probléme posé par l'auteur ?
Quelle forme de tourisme ’auteur favorise-t-il 4 la fin du texte ?

1L PRODUCTION ECRITE (6 points)
Traitez I'un des deux sujets au choix:

1. Dans le cadre d’un échange entre clubs de jeunes de différents pays, vous voulez présenter les
atouts touristiques (ce qui peut séduire, attirer) de votre région pour inciter vos correspondants  la
visiter.

Rédigez un texte argumentatif de 15 lignes environ dans lequel vous présenterez vos arguments
appuyés par des exemples précis.

2, Faites en 10 lignes environ le compte rendu objectif de ce texte.

JE o 3/3 el
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L. COMPREHENSION:
1 —~ Donne des informations sur l'eau
Exige une bonne gestion de I'eau
2~ . développement des mégacités
g 01 . absence d'assainissement
01 . €au polluée
1.5 01.5 | 3 - "aujourd'hui" = en ce siécle , en 2003
4 — Causes:
0,5x2 Industries / produits dangereux / pesticides
2 engrais / eaux usées
05x2 Conséquences:
Augmentation des maladies / mortalité
1.5 1.5 | 5 —Phrase : « L'ensemble des investissements, publics et privés, pour I'eau dans le
: monde représente 5% du total des investissements, alors que ceux du secteur des
télécommunications s'élévent a 52%. »
1.5 01.5 | 6 —J'= Loic Fauchon ou le gouverneur du conseil mondial de I’eau.
1.5 01,5 | 7 - La priorité doit étre donnée 4 I'eau.
Les responsables politiques doivent investir pour l'eau plus que
pour Ja guerre .
2 01+1 | 8—a/ Les eaux polluées doivent étre traitées
b/ L'eau doit étre gratuite pour les pauvres
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L. COMPREHENSION:-

1.Les responsables politiques percoivent le tourisme comme un
moyen de rencontre et d'échange, un facteur de
compréhension mutuelle entre Jes peuples.

2. L'auteur ne pergoit pas le tourisme de la méme maniére.
"Mais il suffit ............ loin d'étre atteints."

Accepter aussi : certains parlent d’une impossible rencontre.
5
F

Tourisme selon les politiques

* une force vitale pour la paix
* images mythiques
* moyen de rencontre

Tourisme selon I'auteur
* déposséder du patrimoine
* traditions non respectées

* sentiment de colonisation

1.5 | 4. Dans les zones sous-développées.

5. découvertes authentiques - rites — traditions — valeurs de la
0,25x4 SOCiété. L

6. L'auteur distingue deux sortes de touristes:

0,5x2 -- celui qui voyage en groupe f

-- celui qui voyage individuellement

Les attitudes:

-- celui qui voyage en groupe est irrespectueux des valeurs et |
des traditions J
- celui qui voyage individuellement s'intéresse aux "locaux"
et entretient des contacts avec la population.

0,5x2

7. La phrase: Le déplacement touristique
moyen d'échange et de rencontre.

1,5 |8 on=les grandes entreprises de Vvoyage ou bien les publicitaires

01 ( 9. Le tourisme est-il source d'échange ?

II favorise le tourisme qui encourage la découverte et la
rencontre de I'Autre.
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BAREME DE CORRECTION Série :
PRODUCTION ECRITE : 06 points
| Sujet 1 (production écrite)

1

-- Présentation du texte (mise en
-- Cohérence du texte

el e [l 5 Y padaly yfAgy a3 0k

]
Organisation de la production (02 pts |
page selon le type d’écrit demandé) 0.25
- Progression des informations
- absence de répétitions 025x4
- absence de contre sens
- emploi de connecteurs
-- structure adéquate (introduction — développement — conclusion) 025x3
.25x3
TOTAL I

2. Planification de la production (02 pts)

J -~ Choix énonciatif en relation avec la consigne
l - Choix des informations (originalité et pertinence des idées)

-- Correction des phrases au plan syntaxique

-~ Adéquation du lexique a la thématique

-- Utilisation adéquate des signes de ponctuation

| == Emploi correct des temps et des modes

| = Orthographe (pas plus de 10 fautes pour un texte de 15 lignes environ)
| TOTAL

j 3. Utilisation de Ia langue de facon appropriée (02 ts

0.25
0.25
0.25

Sujet 2 (COMPTE RENDU)
1. Organisation de la production (02 pts)

-- Présentation du texte (mise en page)
-- Présence de titre et de sous titres

-- Cohérence du texte

, - Progression des informations

- absence de répétitions
- absence de contre sens

0.25
02
BEEE——
e ——— —— ———e

- emploi de connecteurs 025x4
- structure adéquate (accroche — résumé)
TOTAL  S—
0.5
02

R
025

\ 025

l

2. Planification de la production (02 pts)

-- Choix énonciatif en relation avec la consigne
= Choix des informations (sélection des informations essentielles)

- Correction des phrases au plan syntaxique

-- Adéquation du lexique  la thématique

-- Utilisation adéquate des signes de ponctuation

- Emploi correct des temps et des modes

-- Orthographe (pas plus de 10 fautes pour un texte de 10 lignes environ)
TOTAL

TOTAL 02
3. Utilisation de la langue de facon appropriée (02 pts)
1
38
0.25
0.25

0.25
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